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ERIC YANG

TOTAL POINTS

85 / 90

QUESTION 1

10 pts

1.1  2 / 2

✓ - 0 pts Correct

1.2  2 / 2

✓ - 0 pts Correct

1.3  2 / 2

✓ - 0 pts Correct

1.4  2 / 2

✓ - 0 pts Correct

1.5  2 / 2

✓ - 0 pts Correct 23 or 24 (if it is required that the

maximum be unique)

QUESTION 2

10 pts

2.1  3 / 3

✓ - 0 pts Correct: $$2^{n^2 - n}$$

2.2  4 / 4

✓ - 0 pts Correct: $$2^n 3^{\binom{n}{2}}$$

2.3  3 / 3

✓ - 0 pts Correct: $$2^{n^2 - n} + 2^n 3^{\binom{n}{2}}

- 3^{\binom{n}{2}}$$

QUESTION 3

10 pts

3.1  4 / 4

✓ - 0 pts Correct

3.2  3 / 3

✓ - 0 pts Correct

1      Partitions aren't ordered, so be careful talking

about them like this as it can lead to mistakes.

3.3  3 / 3

✓ - 0 pts Correct

QUESTION 4

10 pts

4.1  5 / 5

✓ - 0 pts Correct

4.2  5 / 5

✓ - 0 pts Correct

QUESTION 5

10 pts

5.1  2 / 2

✓ - 0 pts Correct

5.2  2 / 2

✓ - 0 pts Correct: $$n2^{n-1}$$

5.3  2 / 2

✓ - 0 pts Correct: $$n2^{n-1}-2^n+2$$

5.4  4 / 4

✓ - 0 pts Correct

QUESTION 6

10 pts

6.1  5 / 5



✓ - 0 pts Correct

6.2  5 / 5

✓ - 0 pts Correct

QUESTION 7

10 pts

7.1  5 / 5

✓ - 0 pts Correct

7.2  5 / 5

✓ - 0 pts Correct

QUESTION 8

10 pts

8.1  3 / 5

✓ - 2 pts doesn't justify/ mistake in justifying why left

and right subtrees each have  $$2^{h-1}$$ terminal

vertices / height $$h-1$$

8.2  3 / 5

✓ - 2 pts gives an isomorphism or good ideas for an

isomorphism, but doesn't prove that it is an

isomorphism.

QUESTION 9

10 pts

9.1  4 / 5

✓ - 1 pts only does one direction of the bijection/

doesn't argue why it is 1-1 and onto

9.2  5 / 5

✓ - 0 pts Correct
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1.1  2 / 2

✓ - 0 pts Correct
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1.2  2 / 2

✓ - 0 pts Correct
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1.3  2 / 2

✓ - 0 pts Correct
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1.4  2 / 2

✓ - 0 pts Correct
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1.5  2 / 2

✓ - 0 pts Correct 23 or 24 (if it is required that the maximum be unique)
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2.1  3 / 3

✓ - 0 pts Correct: $$2^{n^2 - n}$$
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2.2  4 / 4

✓ - 0 pts Correct: $$2^n 3^{\binom{n}{2}}$$
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2.3  3 / 3

✓ - 0 pts Correct: $$2^{n^2 - n} + 2^n 3^{\binom{n}{2}} - 3^{\binom{n}{2}}$$
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3.1  4 / 4

✓ - 0 pts Correct
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3.2  3 / 3

✓ - 0 pts Correct

1      Partitions aren't ordered, so be careful talking about them like this as it can lead to mistakes.
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3.3  3 / 3

✓ - 0 pts Correct

Page 25





4.1  5 / 5

✓ - 0 pts Correct
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4.2  5 / 5

✓ - 0 pts Correct
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5.1  2 / 2

✓ - 0 pts Correct
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5.2  2 / 2

✓ - 0 pts Correct: $$n2^{n-1}$$
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5.3  2 / 2

✓ - 0 pts Correct: $$n2^{n-1}-2^n+2$$
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5.4  4 / 4

✓ - 0 pts Correct
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6.1  5 / 5

✓ - 0 pts Correct
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6.2  5 / 5

✓ - 0 pts Correct
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7.1  5 / 5

✓ - 0 pts Correct
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7.2  5 / 5

✓ - 0 pts Correct
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8.1  3 / 5

✓ - 2 pts doesn't justify/ mistake in justifying why left and right subtrees each have  $$2^{h-1}$$ terminal

vertices / height $$h-1$$
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8.2  3 / 5

✓ - 2 pts gives an isomorphism or good ideas for an isomorphism, but doesn't prove that it is an isomorphism.
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9.1  4 / 5

✓ - 1 pts only does one direction of the bijection/ doesn't argue why it is 1-1 and onto
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9.2  5 / 5

✓ - 0 pts Correct
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